MENDELIAN GENETICS
Names: ___________________________________________________________________

PART 1
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Some had round seeds






Some had wrinkled seeds

True breeding round seed plants crossed with true breeding wrinkle seed plants 

to produce offspring with only round seeds.
What trait is dominant?     Round     or    Wrinkled


True breeding pea plants with yellow flowers crossed with 
true breeding pea plants with white flowers 
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to produce offspring with yellow flowers

Fill in the blank for the phenotype of the following flowers

____________________ Flowers   FF
x         ff   ________________ Flower


What gametes do each 

of these parents pass on?






____      ____ 
                   ____      ____           





  Gametes


Gametes

Punnett Squares are used to figure out the probability of offspring having a certain genotype and displaying a certain phenotype. Complete the cross between the peas with yellow flowers and white flowers.





  
       ____      ____ 
        



                  ____  



                  ____         

What is the probability that the offspring will display white flowers? __________________
How would a geneticist (like you) describe the genotype of the offspring? 

_______________________________________

PART 2
Huntington’s Disease is a neurodegenerative disease that is autosomal dominant and fatal. However, the symptoms do not appear until the fourth decade of a person’s life. The allele for Huntington’s is represented by an “H”. 

What are the genotypes for the following:


________________               ________________               ________________

  
     Homozygous
  
   Heterozygous

   Homozygous

 
       Dominant





      Recessive

Why might Huntington’s disease continue to be passed down commonly despite the fact that it is clearly debilitating and fatal?

What alleles does someone who is heterozygous for Huntington’s distribute to their gametes? 






________
Gamete



_______   _________


  Heterozygous Cell






________
Gamete

What are the genotypes and phenotypes of the offspring produced by a mother who is heterozygous for Huntington’s and a father who is heterozygous for Huntington’s?



Father 




 ______   ______  Mother   


        ____  _____

Separated earlobes are dominant over attached earlobes
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and normal thumbs are dominant over hitchhikers’ thumbs.
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Write down the alleles for the following genotypes or the genotypes to match the alleles.
____ ____ ____ ____  Homozygous for Separated Earlobes and Normal Thumbs

____ ____ ____ ____  Homozygous for Separated Earlobes and Hitchhiker’s  Thumbs

 S   s   T   T  
_______________________________________

____ ____ ____ ____  Hoterozygous for Separated Earlobes and Homozygous for Hitchikers Thumbs

____ ____ ____ ____  Homozygous for Attached Earlobes and Heterozygous for Normal Thumbs

 s   s   t   t  
_______________________________________

PART 3

Di-Hybrid Cross

What alleles will and individual who is heterozygous for both separated earlobes and normal thumbs distribute to his/her gametes?














____ ____ ____ ____

 
  Parental Genotype




           Gametes
For two parents, heterozygous for both traits, create a punnett square to predict the likelihood of offspring phenotypes and genotypes.

                              ____ ____ ____ ____  Father’s Genotype















What phenotypes are produced as a result of the dihybrid cross? 

How many display both dominant traits? _______________________

How many display dominant for earlobes and recessive for thumbs? ___________
How many display recessive for earlobes and dominant for thumbs? _____________

How many display both recessive? ___________ 
Mendel looked at some funky peas





Genotypes: 











Phenotype as a ratio of affected and unaffected:





_____________  : ______________





Gametes





Gametes








____ ____ ____ ____


Mother’s Genotype
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